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Howbig is XY How many elements

Easy Ofi expected time via hashing
Olilogn time via BBST
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sequence flethers sequence of words

hothing
word sequence ofwords

what is the first word Assume oracle

it's a word Is word 1.23

rest fssp É e intowords
recursion

Try every prefix
systmatischeTattionieren

NIIIEFS THIS CLEARER

backtracking recursive brute force























































































TRUE if Ali n can besplit intowords

Memoir ite into data structure

E splittable i or

Array Splittable 1 n

1 1

Memoized recurrence fills table from right to left
Easier faster to do that ourselves

















































































Dynamic Programming

DP is not about nested for loops table
but smart recursion


